
BOX SIDE SUPPORT 
YAMAHA XTZ 690 TENERE 700 2020 

Ref.: 2AD0890A55



ASSEMBLY SEQUENCE BOX SIDE SUPPORT 
YAMAHA XTZ 690 TENERE 700 2020

DATE: 27/02/2020ID.022.02

10

7

• LEFT SIDE INOX CLAMP :

4 5 9

13 Box Support 55 R 1
12 Box Support 55 L 1
11 Inox Clamp 55 R 1
10 Inox Clamp 55 L 1
9 Aluminum Bushing Ø20xØ9x60mm 2
8 Aluminum Bushing Ø20xØ9x40mm 2
7 Aluminum Bushing Ø18xØ9x15mm 2
6 Clip Inox M6 2
5 Washer M8 - DIN 125 6
4 Socket Head Cap Screw M8x80 - DIN 912 2
3 Socket Head Cap Screw M8x60 - DIN 912 2
2 Socket Head Cap Screw M8x50 - DIN 912 2
1 Screw Round Head With Washer False M6x16 - ISO 7380 2

ITEM Nº: COMPONENT: DESCRIPTION: QUANT.:
ACCESSORIES

12

61 10

ATTENTION: Repeat the process for the right side.

3 5 8


